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HEADS square thru 2

HEADS square thru 4

SIDES (right and left thru ; dixie style to a wave),

A

SIDES square thru 4

touch 1/4 right and left thru 4 |extend SThS P-wave(2) veer left

swing thr jjjjt;};)g‘gm swing thru /ﬁf@&ﬂ;&é boys trad&jﬂ% /ﬁ v|couples circulate
hinge \\ spin chain thre GIRLS circulate 1/2 tag RH 2712 face lne)
split circulate centers trade v |[AL hinge

scoot back v |circulate P-wave(Left) 5 MDGET |circulate 1-1/2

circulate 1-1/2

box the gnat

RLG

RLG

RLG

RH-waveM™M 5 DGET

] AGET &4

OP-wave(S} )W DGET

RH-waveM™M o DGET

H:square thru 4

right and left thru , swing thru , spin chain thru.
Centers trade , scoot back , circulate , RLG

THOKE !
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SIDES pass the ocean

HEADS square thru 2

SIDES lead right

extend 4 [touch 1/4 veer left
spin chain thru scoot back (ferris wheel ; CENTERS sweep 1/4)
hinge  mwmeonss >\ | |hinge arzeat\ | |singing call 1!
9 P wave(E 15 9 %. ging
CIrCUIate < ) SWIng thrl( ) stir the buckt
hinge \/\i Y |recycle /\& CopEEmETL )
WTFH!

RLG box the gnat \\ A
RH-waveM b DGET swing thru

(stir the buckt Module

boys trade sides lead right , veer left , ferris wheel ,

circulate 1-1/2

centers sweep 1/4 , singing call !!

-

RLG

RH-waveM5DGET
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yao I—/)L(D

yao I—/)L (2

yao I—/)LQ

yao I1—/)L.@

H: lead right

H: square thru 4

H: lead right

H: square thru 2

circle to a line <0-line>

slide thru <c-line>

circle to a line <0-line>

slide thru

pass the ocean

pass the ocean

pass the ocean

right and left thru <RH-line>

scoot back scoot back scoot back pass the ocean
hinge hinge hinge scoot back
circulate circulate swing thru hinge

hinge hinge hinge swing thru
circulate circulate 1-1/2 split circulate hinge

RLG (5/8 promenade)

RLG (3/4 promenade)

RLG (7/8 promenade)

split circulate

circulate 1-1/2

[_| #Body ModuleZB%y

RLG (1/2 promenade)

[ | AGet In Module&p 4y

B AiGet Out ModuleZB4y

get infx# O0-line get infx# C-line get inBx# O-line get infx# RH-line
get outlxfiZ OP-wave |get outBX#2 RH-wave |get outlx#2 0-wave get outlx#2 RH-wave

[Body Module]

P-station ==> OP-station

" station #EIAY 2 BEFET . Hl

[Body Module]
station FEIM 2 ENEFET,
C-station ==> RH-station

[Body Module]

Mstation MEAETEEH A

P-station ==> P-station

Mstation MEEEE A ]

[Body Module]

RH-station ==> RH-station
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H: square thru 4 H: square thru 4 HEADS lead right secuence OUT
swing thru swing thru swing thru hinge
boys run boys run secuence IN; GET |swing thru

wheel and deal

couples circulate

spin the top 2 TIMES

hinge

veer left

bend the line

secuence OUT

split circulate

couples circulate 2 TIMES

pass thru

GIRLS circulate

secuence IN; GET

1/2 tag california twirl swing thru RLG (3/8 promenade)
circulate right and left thru BOYS circulate

[secuenceZ ## Module]
centers run dixie style to a wave swing thru N £ OUT cocnonce —

tag the line circulate secuence IN; GET R
face in [recycle] and sweep 1/4 |hinge foauere thru on the & hande)
pass the ocean right and left thru circulate

girls trade touch 1/4 hinge

swing thru circulate circulate

circulate 1-1/2

boys U-turn back

secuence OUT

RLG (1/4 promenade)

RLG (1/8 promenade)

get inf¥#2 c-station(2 face) |get in[X# c-station(line)
get outBx#2 RH-line get outBx#z C-line

[Body Module]
station BENH 2 FEFET,
C-station ==> RH-station

[Body Module]
station NENEEH A,

[Body Module]
station NEIEE A,

——C-station ==>C-station

C-station ==>C-station —



